Y o7t @13 / RAILWAY RECRUITMENT BOARDS
& U odR0] - w & o & - CEN01/2019- NTPC

[Participant ID

Participant Name

Test Center Name Jaipur Engineering College
Test Date 11/02/2021

Test Time 10:30 AM - 12:00 PM
Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Q1w da 7 AfEETETE O FE H Al U W R S 31 5 W e @1 9 dare 5
Y T & FT 82

A o FRfser (Chlorophyll)
X 2 FUEF (Carotene)
X 3 GmEREEAa (Phycocyanin)
X 4 Sramerd@= (Zeaxanthin)

Question ID : 9489118922
Option 11D : 94891135688
Option 2 ID : 94891135687
Option 31D : 94891135685
Option 4 ID : 94891135686
Status : Answered
Chosen Option : 1




Q2 g o G F T 3 TRT # AT GREY AN 96d o & §9H W i @ CE s

Ans %:,1_ e (Chameleons)
X 2 ®PT (Turtles)
K . YFrEarEr =@ (Jerboa)
X + f§feear (Cats)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118912
94891135646
94891135647
94891135648
94891135645
Answered

1

3 PrAfia # @ #la @ szFw 3R FEeR @ g & o Ay 27

M XK1 UE (Ainus)
X 2 A% (Tharu)
X 3 Barer (Fulani)
W 4 JAET (Jarawa)

Question ID : 9489118924
Option 11D : 94891135696
Option 2 1D : 94891135693
Option 3 ID : 94891135695
Option 4 ID : 94891135694
Status : Answered
Chosen Option : 2
Q.4 Iy frelr @107 &1 T o F TS FEET o I F & FC, A FH FI0T E AN T FAT 4T I8
2
e mEE R
X 2 3 I & S
X o @er T B e
Xaoamraraar g
Question ID : 9489116168
Option 11D : 94891124671
Option 2 1D : 94891124669
Option 3 1D : 94891124670
Option 4 1D : 94891124672
Status : Answered

Chosen Option :

1




Q.5 PI_FH T=T TATET0T HIETOT HIFHTOT (United States Environmental Protection Agency) 3T TUTOaT &a

& W

s X1 Ay 1979
X 2 T 1985

v 5 frEET 1970
X 4 fEEeT 1980

Question ID : 9489118934
Option 11D : 94891135736
Option 2 ID : 94891135733
Option 3 ID : 94891135735
Option 4 ID : 94891135734
Status : Answered
Chosen Option : 4
Q6 What is the name of India’s first Railway University?
Ans 3 1. Rashtriya Rail Vishwavidyalaya
« 2. National Rail and Transportation Institute
/< 3. Indian Rail and Roadways Institute
/< 4. Institute of Rail Management of India
Question ID : 9489118929
Option 11D : 94891135713
Option 2 ID : 94891135716
Option 3 ID : 94891135715
Option 4 ID : 94891135714
Status : Answered
Chosen Option : 2
Q.7 ?ﬂﬂm—mqﬁ?ﬁ&g:sﬁ?mﬁrwﬁwmgm%, Tre7hr oiar Faer 403 Hex, 434 Hex 3k
465 #ex &1 30 9% ¥ aF A9e-TF & aiiar 79 $iiaw, Huy a@ a6 F Aeg Fser #roqoa
AT ST FWehaT 8l
s XK1 7 e
< 2 32 dfreT
V'3 31 FeT
X4 41 drex
Question ID : 9489116151
Option 11D : 94891124602
Option 2 ID : 94891124603
Option 31D : 94891124601
Option 4 1D : 94891124604
Status : Answered
Chosen Option : 3




98 R WHER AN E H T TE (SWAYAM) AT FT FAET FT 2

e K RS s
X 2 TEer sfEam
X 3. Segfdar e
o TOreTr &7 HfEEHE, §AEEAT U9 TOTEeT

Question ID : 9489118940
Option 11D : 94891135760
Option 2 ID : 94891135759
Option 3 ID : 94891135757
Option 4 ID : 94891135758
Status : Answered
Chosen Option : 3
.9 : i
¥ 3@ g & ygua A, S Tfat@a gwer ¥ watia 7@ 3
CED, DFE, EGF, FGH, GIH, HJI
ans o 1. FGH
X 2 CED
< 3 DFE
< 4 EGF
Question ID : 9489118583
Option 11D : 94891134329
Option 2 ID : 94891134332
Option 3 ID : 94891134331
Option 4 1D : 94891134330
Status : Answered
Chosen Option : 1
Q.10 = ‘
SRA & THATT WA SATeg! el 2ud 82
Ans : 2
X 1. 9 =T (Port Blair)
X 2. FATHER AT (Narcondam Island)
& 3. g (Baratang)
v 4 877 T (Barren Island)
Question ID : 9489118923
Option 11D : 94891135692
Option 2 1D : 94891135689
Option 3 1D : 94891135690
Option 4 ID : 94891135691
Status : Answered
Chosen Option : 4




Q1 4 | oefr &7 sTR 1 kg @1 &1 Faer oo fEeiefex ol & 91 0.1 g gem?

Ans

<110 mm?
#< 21000 mm?
<31 mm?

v 4 100 mm?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116154
94891124614
94891124615
94891124616
94891124613
Answered

1

Q12 s oo 3= ¥ s T 42lbs, 621bs 3T 7> Ibs §| TAF FF I TAA 5N F gaE
fnfom frar e €1 9% goreT HfRwan eer A & e AT AT Sedis HeA &

uF gawsT G A g, A sfiean frae AgAel @ %% @ gwst G o wear 2

Ans X1_

72
41
54
45

Question ID :

Option 11D
Option 2 ID
Option 31D

9489116153

: 94891124610
: 94891124611
: 94891124609
Option 41D :
Status :

Chosen Option :

94891124612
Answered
2




Q.13 Select the option that holds true regarding the given statements.

Statements:
I. The soldiers loaded their guns and marched towards the battle ground.
II. The families of soldiers are praying for the safety of the soldiers who are in the battle ground.

Ans x1_

Statement I is the effect and Statement II is its immediate and principal cause.
v
Statement II is the effect and Statement I is its immediate and principal cause.

#< 3. Both the statements are independent of each other.

X 4

Both the statements are effects of some independent causes.

Question ID : 9489118598
Option 11D : 94891134389
Option 2 ID : 94891134390
Option 31D : 94891134391
Option 4 ID : 94891134392
Status : Answered
Chosen Option : 2

Q.14 21 smowa FoT BT 100° 1 TF F0T T §| TG RT, D F0T F T T T 20° FA §| 7 F00
Fr 7T 79 FET

Ans o1 80°
X 2 75°
X3 90°
X 4 70°

Question ID : 9489116169
Option 11D : 94891124673
Option 2 1D : 94891124676
Option 31D : 94891124674
Option 4 ID : 94891124675
Status : Answered
Chosen Option : 1




Q15 ofy R g 1 21,560 F &= T @ IO AT, S TEG F 21,080 F ¥ W F AN @1y F

T B, A a5 & F qod A S

Ans X 121,210

v 2 21310

X 331,110

/< 4 %2130
Question ID : 9489116159
Option 11D : 94891124635
Option 2 ID : 94891124636
Option 3 ID : 94891124634
Option 4 ID : 94891124633

Status : Answered
Chosen Option : 2
18 o 7 ¥ B9 31 A7 2019 9IRS 1 e 7 e frar mr ar
As X1 HqfET aE

v RFEer daRETT

& 3 30T AT

X 4. GEAT TS
Question ID : 9489118927
Option 11D : 94891135707
Option 2 ID : 94891135708
Option 3 ID : 94891135705
Option 4 ID : 94891135706

Status : Answered
Chosen Option: 2




Q.17 2

Ans 60

Question ID : 9489116149
Option 11D : 94891124593
Option 2 ID : 94891124595
Option 3 ID : 94891124594
Option 4 1D : 94891124596
Status : Answered
Chosen Option : 4

Q.18 fw =17 = &1 CUAET 3w FY WY 3T TEN F TS F, S OFEH TS R (?) F T
T 3T TEAT B

12 51 18

8 13 ?
26 12 12
30 50 | 23

Ans X1 Q
X212
v 7
<46

Question ID : 9489118600
Option 11D : 94891134397
Option 2 ID : 94891134398
Option 3 ID : 94891134400
Option 4 ID : 94891134399
Status : Answered
Chosen Option : 3




Q.19 Nikhil has a mean score of 95 in Maths after 4 quizzes. Then he scored 0 in the next Maths quiz. The new mean score is:

Ans

X1 672
X2 76.2
X 3 67
v 76

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116170
94891124680
94891124678
94891124677
94891124679
Answered

2

Q.20 = FaAwEE FEmst § @ Tger d9 Semat @ e 27 ¥ e 39 et & @ g S

Ans

v 36
X210
X 3 63
X412

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116148
94891124591
94891124589
94891124592
94891124590
Answered

1

¥ Feger dledfEERr & S (VR) # 9ol w7 = 7

Ans

X 1. Jrher T=E (Vocal Resonance)
X 2 fasgarr feferdr (Visual Reality)

X s fagarer I3 (Visual Range)
v o T3 fefedr (Virtual Reality)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

9489118936
94891135743
94891135744
94891135741
94891135742
Answered

Chosen Option : 4




Q22 Freraferar (Kalbelia) o 3 va 77 6w adT 1s7 & geftg &2

are K1 FERTE
< 2 Jem geaT
v 3 OFEH

X+ TEATEe 92w

Question ID : 9489118908
Option 11D : 94891135630
Option 2 ID : 94891135631
Option 31D : 94891135632
Option 4 1D : 94891135629
Status : Answered
Chosen Option : 3
Q.23 aresdnr el wfEf (10C) #r wewm & w7 # AFfRg &7 = A guw 9RET Afger & A
T &7
Ans x 1 h% i ﬁ
X o gear go
2 2
v 5 Frar HarEr
X 4 GEEr FErer
Question ID : 9489118939
Option 1 ID : 94891135754
Option 2 ID : 94891135753
Option 3 ID : 94891135755
Option 4 ID : 94891135756
Status : Answered
Chosen Option : 2
Q.24 srg ¥ oo 19T S=Te & 1878 # 23 9wr 9| HWfATH (Vemacular press act) YEarad fear om?
Ans o : f
X 1. &g gIfET (Lord Hardinge)
v 2 &S g (Lord Lytton)
X 3. &g IFAHS (Lord Chelmsford)
X 4 #s fHSr (Lord Minto)
Question ID : 9489118918
Option 11D : 94891135670
Option 2 ID : 94891135671
Option 31D : 94891135669
Option 4 ID : 94891135672
Status : Answered
Chosen Option : 2




QY FrFR T AT FRT AT A8 T T Y TR 2@t S AT A g smE g
g Affa 97 #1 a9 % A= Fifem

< 13500 m?
v 2 3600 m?
<3 4000 m?2
< 4 3200 m?

Ans

Question ID : 9489116164
Option 11D : 94891124654
Option 2 ID : 94891124655
Option 3 ID : 94891124656
Option 4 1D : 94891124653
Status : Answered
Chosen Option : 2

Q.26 mmmmﬁwaﬁmﬁmqémﬁaﬁ;maﬁmmﬁgqﬁmﬁ,ﬁ?
AR Ad i T A dd g g a F e e A g s s o s a
FUAT FT TTET T B

FU

I F& 99 95§

Il. @ o anfover Fefier &1
ooy -

I Fo o e Ao &

Il #E 97 Tl meie =& ¥

e X Faw forses || e ST B
X2 7 ar fasey | 3k 7 & ey || 9o e 7
v 3 Faer T | 9T e B
X4 ey | AR I g & ures =R §

Question ID : 9489118575
Option 11D : 94891134298
Option 2 ID : 94891134299
Option 3 ID : 94891134297
Option 4 1D : 94891134300
Status : Answered
Chosen Option : 3




V7 ama $r g goe Wod TEETE FoaH F4 37
MV 3 e T

X 2 3 ATRA T

X o 7 FEIA T

X4 FETH aRa a9y

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

9489118928

94891135711
94891135710
94891135712
94891135709

: Not Answered
Chosen Option : -

** eeier (Jallikattu) T &2
Ans x1_

ol &, g # AT fr F19 Tl UF ST Se-hET

K2

affer & “Saarae (People’s Leader)” & IR ATH

X 3

TEfaary AR, A9 7 HAST T So-9FF 38T

v

AfHeE H AT IRANF 9o H FE H A H G

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118932
94891135726
94891135728
94891135725
94891135727
Answered

4




Q29 gy ¥ s7eTaT SAF T W g FT TSET TS Her @i (Field Hockey) 872

Ans x *
1. FamTeraT
< 2 Frer
X 3. grEeTaer
v o aifgEae
Question ID : 9489118905
Option 11D : 94891135619
Option 21D : 94891135618
Option 31D : 94891135617
Option 4 1D : 94891135620
Status : Answered
Chosen Option : 4
Q30 + + s
dreir Fa oAH o T wefig AT g7
Ans :
~< 1 gaa-3rq|aﬂ H q%
V2 foega-seaea 7 e
X 3. AcEO-3c9e H I
X 4. FIB-3ceA H giE
Question ID : 9489118942
Option 11D : 94891135765
Option 2 1D : 94891135767
Option 31D : 94891135766
Option 4 1D : 94891135768
Status : Answered
Chosen Option : 2
Q31 1 317 1 —
= ———— T SUAT & ¢ IR HP IF U AF AT HIAT|
4 4 x5 4X5x6 2
Ans  X71.0.3092
< 2 0.3150
v 2 0.3083
< 4 0.3140
Question ID : 9489116145
Option 11D : 94891124579
Option 2 ID : 94891124577
Option 3 ID : 94891124580
Option 4 ID : 94891124578
Status : Answered
Chosen Option : 3




Q.32 FaR Ferem frzen @R & TaoeT SRET FdTEET & = ¥ U 89 W e &7 % B d&r ok

W
e X wrafe moT
X 2 S F Tged JaT
X 3 o gAERE
v i FrafiE TEEE

Question ID :

Option 11D
Option 2 ID
Option 31D

9489118943

: 94891135769
: 94891135771
: 94891135772
Option 41D :

94891135770

Status : Not Answered
Chosen Option : --

Q33 95.75 3l 0.02554 & TUeTHe & T H Wod HEA F GHGE & &% AN o FEF 3w @?

Ans X1 3
K25
Va6
<44

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116150

94891124600
94891124598
94891124599
94891124597
Not Answered

Q.34 v @fREE FT amr &, SUN' 1 RTTVMO' o simam & 3R JOB' &7 IKNPAC' frm = &1 @

FT o # PIE’ F 5w vwr o Amem?
Ans (1. OSJKCG

X 2 KOLPGY

v = OQHJDF

X 4 RSIJFG

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118578
94891134311
94891134312
94891134310
94891134309
Answered

3




e X1 faeEg (Bishnois)
X 2 @fes (Khatik)
X 3 @A (Khatri)
v 4 =1 (Chippa)

Q35 yorure ¥ frw wHEE 3 o &9 adifent ¥ st R oS @ 2

Question ID :

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

Chosen Option :

9489118909

: 94891135636
: 94891135635
: 94891135633
1 94891135634
: Not Answered

X 3

X 4

O3 e 2018 F v "R BEEe, e - 2 F FRwar w2
A o Tg v e Baee B
X 2 T TF UA-dF TEss A g

Tg T W (visual range) ¥ W, g1 ¥ gaT H AR & droll AT ¢l

g TH AESE 3T § oF v A Iy o oy Fr 3RfEes BaEa #

Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118931

94891135721
94891135724
94891135723
94891135722
Not Answered

e 1 27.3 gt ReEw
X 2 29.8 gt femw
X3 20 2 fe=w
X 4 256 qet feaw

Q.37 TGHAT F A YT T TF TFRL T FA A (e G o9 87

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118911

94891135643
94891135644
94891135641
94891135642
Not Answered




Q.38 = semgiw e o §, e & O GRh weR @ e § Sat S e §) s e

F =TT AT
ans K19 - 729
<26-216
X3 7 - 343
v+ 8- 256
Question ID : 9489118603
Option 11D : 94891134412
Option 2 ID : 94891134409
Option 31D : 94891134410
Option 4 ID : 94891134411
Status : Answered
Chosen Option : 4
Q.39 fa=fofea # @ #iv @1 7= 7R @ s & setfoefts 79 &1 w8 FagEs 82
Ans 25 1. AdHTHIOT &hlel, HEIHTHIOT shid, T.'J":lTEiWT chiel
X 2. HEJYHIUT ehlel, «AdHIHI0T hlel, T.'!"-'-lT‘Si'I'ﬂT hiel
Xs.tﬂgﬂﬁm, HEIJYTHIUT hled, Wm
«4- a” THTOT <R EI: HEIHIHTT EI;IEI: ASHTHIUT chlel
Question ID : 9489118921
Option 11D : 94891135683
Option 2 ID : 94891135681
Option 31D : 94891135684
Option 4 ID : 94891135682
Status : Answered
Chosen Option : 4
Q40 g & 3w fEsRme sefosiy Meew F a3 F9r o, B 97 a0 & mar o
At o are 3l o
X 2 v MHiT @l
X 3 Pl AT aeaa
3 ¥
X+ i\ 3t A
Question ID : 9489118937
Option 11D : 94891135747
Option 2 ID : 94891135745
Option 31D : 94891135746
Option 4 1D : 94891135748
Status : Not Answered

Chosen Option :




Q.41 g o gTT T oI IefE F FeEA 23.5 kg, 15 kg, 20 kg, 22 kg 3 16 kg §1 o diwE F

T, fafea & @ frger A9 19.3 kg &7

Ans x
1. a§a$
W 2 AT
X 3 Frer e
X 4 mrfeger
Question ID : 9489116172
Option 11D : 94891124687
Option 2 ID : 94891124685
Option 31D : 94891124688
Option 4 ID : 94891124686
Status : Answered
Chosen Option : 2
Q.42 T wfore % el fer &1 o wer o € ik $o s Reer & ma st B www F
U T e ¥ R A & 3§ e i wuw 540 oS ¥ R 3W A @ R 21,800 ¥
ot s we & % Rl Fr T 620 S € AR R 22,040 71 TR oF mEe F 500 TR
sl 1 @ua g &, o 37 "3 W e feaer g
Ans X110 21,840
< 2 21,560
X 3 21,950
o 4 71,680
Question ID : 9489116160
Option 11D : 94891124639
Option 2 ID : 94891124637
Option 3 1D : 94891124640
Option 4 1D : 94891124638
Status : Answered
Chosen Option : 4
B i vk T F 0T S FEE 20 cm &, G FFSHT IRAT AT HSwl
Ans
v 1 4042 cm
K2 4042 m
X3 0 cm
K442 cm
Question ID : 9489116165
Option 11D : 94891124659
Option 2 ID : 94891124657
Option 3 1D : 94891124660
Option 4 ID : 94891124658
Status : Answered

Chosen Option :

1




Q.44 =7 oI A, =d, oA R N AL HeFL-HeET Heat -BDS, IMT, DPS 3T IMS o, sX e
qISTFAR- BA, BBM, BSc 3T BCom #H waer 1 & farw 1wy [IMT # 99T oI aer ©1F & BSc &0
I ¥ TEF & IMS F v B st BA AT §1 #fFE & BDS & i Faw 3k BBM T &1 gt
7 BSc T %@ o9 7 DPS # wdw Far?

Ans - X1 HId
<2 e
W 3 arfaer

X 4 TEa

Question ID : 9489118601
Option 1 ID : 94891134402
Option 2 ID : 94891134401
Option 3 1D : 94891134404
Option 4 ID : 94891134403
Status : Not Answered
Chosen Option : -

Q.45 7 o %_7

Ans X1,
T J e §, TSFF TEROT F T AregH 7 =T ar A7 gr gl
X2 ¥ Feeed i aar g
W 3
S TN H, ATCTH F FOT RET F FE0T F e F Fgaa ar F Fua w3 T
r 8
5 G A, FETH F FUT 9N & FEROT Fr T F gAR Fer F FoF = {

Question ID : 9489118916
Option 11D : 94891135663
Option 2 ID : 94891135664
Option 31D : 94891135662
Option 4 ID : 94891135661
Status : Answered
Chosen Option : 3




Q46 2014 3 TS [EFR ¥ TFAMAT HT FS T TN Ak 1 AH FART?

M TR A T

X 2. 3FAE odd @i
X 3 TS e T
X 4 TeaE gHA

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

9489118910

94891135637
94891135638
94891135639
94891135640

Status : Answered
Chosen Option : 2

Q.47 wh FEEER @S 1 TSR, SEE T F UE-faEs % aeT g1 T $[@E & AT 240 m g, &

qEs  FaE A" i
Ans X170 m
<295 m
<360 m
v 490 m
Question ID : 9489116166
Option 11D : 94891124661
Option 2 ID : 94891124664
Option 31D : 94891124663
Option 4 ID : 94891124662
Status : Answered
Chosen Option : 4
Q.48 TR (s@gat 2020 @F Wvd AAFN F FFAN) HIFA TS Tk 1 7 GHAT 1946 # Ay & T
o vl & Wefid Sqe $T A 4 g 27
Ans x 1.
3 TSg 1 T FBEE, S 9gFd TS F JEey g g
x5 . ”
X 2 TgEa Tog H Far F oAy
X o Tgad T F 33 @7 T 719 H rageifa
VoY e & arfa
Question ID : 9489118935
Option 11D : 94891135738
Option 2 ID : 94891135737
Option 31D : 94891135740
Option 4 1D : 94891135739
Status : Answered

Chosen Option : 4




Q.49

Ans

Wl =l O~ O

Question ID :
Option 11D :
Option 21D :

Option 31D
Option 4 ID
Status

9489116144
94891124575
94891124574

: 94891124576
: 94891124573
: Not Answered
Chosen Option :

Q.50 22 cm @ =T ZERT 100 cm B=T A TF JeT F Fy W FANG F0T F AT (Beh FH) 77 DS

Ans X 1.2°36'
<2 62°36'
V'3 12°36'
< 422°36'

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status :

Chosen Option :

9489116173

94891124690
94891124692
94891124691

1 94891124689

Not Answered




O e F arEw A sfr =T ST &

Ans - ) .
& 1. gl A (Pamir Knot)
X 2. §t#@EST (Bomdi-La)
W 3. fararferes (Shiwaliks)
& 4 97 g=trer (Pir Panjal)
Question ID : 9489118926
Option 11D : 94891135704
Option 2 ID : 94891135702
Option 31D : 94891135703
Option 4 ID : 94891135701
Status : Answered
Chosen Option : 1
Q.52

T FT A IS AHF FieT o412
At X1 aTeEeiY gfRdT

X 2. 3EHE WM FEIgL

Vo FEIGT M g

X 4 e

Question ID : 9489118920
Option 11D : 94891135678
Option 2 1D : 94891135677
Option 3 1D : 94891135679
Option 4 1D : 94891135680
Status : Answered
Chosen Option : 3
Q.53 w2020 T F AR, feT Hr TftE witafEE avw S T e vnle #i9 § @t F
TEst #)?
Ans ; Lo
X . dram Rferarw (Venus Williams)
X 2. JTTT AIrarar (Maria Sharapova)
X 3. 2fyerr fesF (Danica Patrick)
o 4 AT 3T (Naomi Osaka)
Question ID : 9489118907
Option 11D : 94891135626
Option 2 ID : 94891135625
Option 3 1D : 94891135627
Option 4 1D : 94891135628
Status : Not Answered

Chosen Option :




Q54 =g RrreT F TF F, S UF BT I0F @ 3T o sEeT

Ans

X 1 IKM
v 2 OQR
X 3 CEG
X 4 ACE

Question ID
Option 11D
Option 2 ID

Option 31D :
Option 41D :
Status :

Chosen Option :

: 9489118594

: 94891134374
: 94891134375
94891134373
94891134376
Answered

2

055 g gEmr H ggEE AT, Fr D@ St @ e 88 2

3, 7, 22, 89, 446, 2677, 18739

as X1 89
X 2 446
W 3 18739
X 4 2677
Question ID : 9489118586
Option 11D : 94891134341
Option 2 ID : 94891134342
Option 3 ID : 94891134344
Option 4 ID : 94891134343
Status : Answered
Chosen Option : 3
Q56 =7 3 WEE 1 TS F, S & T gTen F wF T (7) F TAS W R 3T Rl &
SUMA, ASUM, MASU, ?
Ans 1. MAUS
v 2 UMAS
< 3. UASM
< 4 SAUM
Question ID : 9489118584
Option 11D : 94891134334
Option 2 ID : 94891134335
Option 3 ID : 94891134336
Option 4 ID : 94891134333
Status : Answered
Chosen Option : 2




Q.57 = @ frm gor & ER-AEY 2019 & faT 359 A (ASEAN) Rraw wede % &= &
iEw Tes?

A X frdindm
o
X3 ey
X 4 fETR

=

Question ID : 9489118933
Option 1 ID : 94891135732
Option 2 ID : 94891135729
Option 3 1D : 94891135730
Option 4 ID : 94891135731
Status : Answered
Chosen Option : 2

Q.58 F=fafte & & 37 o By Trafef@a = gafcas o & IfttE =0 § - ‘T Rfiee 12T v
#F 3 7 TIRE w3l vl e v A, afF S9w 38 =¥ 9T w5 At gfew w8,
s T og o9 T ¥ SEH &9 Fr e i BefEe anfaer B2

S A
X 2 Sz
X o FEE Fegfee
X o it 3

Question ID : 9489118938
Option 11D : 94891135751
Option 2 1D : 94891135749
Option 31D : 94891135750
Option 4 ID : 94891135752
Status : Not Answered
Chosen Option : --




Q.59 FfefEa o 9, 9% FEErR - AShke, fE, seaiks A guE g o e AEEehE
BT F g1 &1 TUH FoawE ¢ Hhed = 4%, AT 3eaws : BE = 22%, 999 IO5E  IHeAieE

Ans

= 25% AT I3 Jrams - AT = 49% B

9E TE F AU W, BT 70 FoT F 3o &1

S guH geads
e geaEs
" e geoEs
=g geads

IfE IR AFERRT AN HESTd $o sEwe et 130 fAfees 9 #9 8, a wig AeenR g

=TT & FT 89%d Al Hiiav|

X1 64 Afma s A=
X2 74 Afoma T A=
X 3. 65 AT I A
v 63.7 ARTA T A

Question ID : 9489116171
Option 11D : 94891124681
Option 2 ID : 94891124683
Option 3 ID : 94891124684
Option 4 ID : 94891124682
Status : Answered
Chosen Option : 4
Q.60 v gars ST B Frrer &1 sfemat & Wea feemadt F wAer 300 kmvh, 200 km/h 3R 240
km/h #r TMe § 33 A §| W BT & 9E: 33 F ST Sere # e 9w T A
Ans o 1. 240 km/h
# 2. 40 km/h
# 3 140 km/h
#< 4150 km/h
Question ID : 9489116162
Option 11D : 94891124646
Option 2 ID : 94891124647
Option 3 ID : 94891124645
Option 4 ID : 94891124648
Status : Not Answered

Chosen Option :




Q61 wx w=% ¥ v & 7 T 23 7on F ¥ T wer T $E @, 6 & o sen
# >3 Renfaa ot R wRomrew, sue soaw wd Sa) ¥ 192 #fow smm & 7§ e

Ans

AT FfAT
<150
X 2192
V'3 110
110

4, jii

5

Question ID
Option 11D

: 9489116167
: 94891124668
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891124666
94891124665
94891124667
Not Answered

Q.62 mert o $¥E $RAT FT W GE R (e, RER T 3EEr F o T W AR S

Ans

ATHST T AR e #° 3OER) 7y av¥ g2 R are

2 1. 1800
X 21715
'3 1765
# 4 1680

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118917
94891135665
94891135667
94891135666
94891135668
Answered

2




Q.63 fam 1T el 1 LUATEE HeAAA F{ AR IW HER F TIA HY, 3 SWH TG RS (2) F T

T T TFAT B
N[R][V
Ql M| 2
Pl T|x
o|K |G
ans X1 W
X2 H
Vs
X4z
Question ID : 9489118599
Option 11D : 94891134395
Option 2 ID : 94891134393
Option 31D : 94891134394
Option 4 1D : 94891134396
Status : Answered
Chosen Option : 3
Q.64 g e dfEer a:réamm%,s‘rsrﬁﬁa‘ a;rmmﬂ’msﬂwﬁf\ﬁaa;re‘rcr%cmm
e g, a 3w & Fa T A S
Ans - X1 2 em
<23 cm
<3 4 cm
V'8 em
Question ID : 9489116152
Option 1 1D : 94891124605
Option 2 ID : 94891124606
Option 31D : 94891124607
Option 4 1D : 94891124608
Status : Answered
Chosen Option : 4




Q.65 3 & GrAfeT 3gFa &, TTAW - 4, 1 HR 6 Fraer R 3H IR vF T Aoy & A a1

Mﬁ%&ﬁ?43ﬁ¢é’,1$w—w3ﬁ?§?

214614637147612414616212

Ans x
g
X2 d=
X 3 I
v T
Question ID : 9489118602
Option 11D : 94891134406
Option 2 ID : 94891134407
Option 3 1D : 94891134408
Option 4 ID : 94891134405
Status : Not Answered
Chosen Option : --
Q.66 um e A - e (NISHTHA) T 9piRsT Hee Same e Jsred gam #
;AT Tl
As X 1. FERISE
V2 Ty g
X 3 3T ger
F ﬁ?@-
Question ID : 9489118906
Option 11D : 94891135623
Option 2 ID : 94891135624
Option 31D : 94891135621
Option 4 ID : 94891135622
Status : Answered
Chosen Option : 2
Q.67 v faf¥mg %z smer &, DIVIDENT & % % G % # » @ L' f3r =ar & 3% 'DADDY’ =1 % | # #
O for@r Fmar &1 33 % o # NATIVE' &t 5@ wer o smeem?
e X1 #+0"@ !
Xe@#L!'% O
V:@!L% G+
Kael+s#LG%
Question ID : 9489118577
Option 11D : 94891134307
Option 2 ID : 94891134306
Option 3 ID : 94891134305
Option 4 1D : 94891134308
Status : Answered

Chosen Option : 3




Q.68 zr srmgsT=T TEAHT F AW (LCM) 638 ¥ IfF T FEAw 20 &, & gEd wEw A9 S

Ans  of 1. 22
X2 32
<313
X 11
Question ID : 9489116146
Option 11D : 94891124582
Option 2 ID : 94891124584
Option 3 ID : 94891124583
Option 4 1D : 94891124581
Status : Answered
Chosen Option : 1
Q.69 @=X % forw, gt 103 2ffmer oo 1 AI5an #7 AR Scdedt FT T &, ot T g Few smgfed Sl
e F1 3w w E S @ g aff @ dew e #) 3 @l s sger §2
Ans .
o 1. st (infrasound)
X 2. HTaeat (supersonic sound)
X 3. greaf (ultrasound)
X 4 Tt (plosives)
Question ID : 9489118913
Option 11D : 94891135650
Option 2 ID : 94891135652
Option 3 ID : 94891135649
Option 4 ID : 94891135651
Status : Answered
Chosen Option : 1
Q.70 v mrEEmE # 100 fgamft w ¥ a5 57 Rv 20 Ra & ey gl sqoey ¥ of omemw & 25
A Tt am T #, O SUeey @ T e RF & e Tt @efe
Are X110 Tt
v 216 fa=
X315 fae
PSR o
Question ID : 9489116161
Option 11D : 94891124643
Option 2 1D : 94891124642
Option 3 1D : 94891124641
Option 4 ID : 94891124644
Status : Answered
Chosen Option: 2




Q.71

FAT FEATT 30, 40, 45 3T 60 FATGIA # E?
o g, e gaeE & F

X 2 Faar 30 AR 40 FAEIE F T

X s %ae 45 3R 40 FAEEE F A F

X 4 7€, HEATT FARIS H @1 g1

Option 11D

Question ID :

9489116156

: 94891124621
Option21D:
Option 31D :
Option 41D :

Status :

Chosen Option :

94891124623
94891124624
94891124622
Answered

1

Q.72 us YeEmdr 75 kmh F TE TER T ¥ T W@ E1 20 e F 7 Rrae g aw o ol
Ans X140 km

< 2 20 km
<3 4 km
v 4 25 km
Question ID : 9489116163
Option 11D : 94891124652
Option 2 ID : 94891124650
Option 31D : 94891124651
Option 4 ID : 94891124649
Status : Answered
Chosen Option : 4
Q.73 v RRET WURUT =0T Y &7 9T U & 8 T Ui 2 a¥ F wget 1720 3T 39F W e 5 oaw
# FeT 21,020 & st &1 of¥r A Sifsw
Ans 1. 3400
< 2 3500
v 3 7600
< 4 3200
Question ID : 9489116155
Option 11D : 94891124618
Option 2 ID : 94891124617
Option 31D : 94891124619
Option 4 1D : 94891124620
Status : Answered
Chosen Option : 3




Q.74 afy af¥w wrafy smur 9T BEer $r 7€ 21,000 H TfEr 2 T & sERT 21,440 g AT §, & Tty

Ans

== Fr T A9 T

v 20%
X 2 0.2%
X 3 40%
X 4 30%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

9489116158
94891124630
94891124629
94891124632
94891124631
Answered

1

Q75 zg gwm #7 9 &Y, # SR Avh # viaerEes REd (?) F T WO e B

8, 16, 48, 7, 960, 5760, 40320

Ans - X1 376
X2 118
v 192
X 4 240
Question ID : 9489118587
Option 11D : 94891134345
Option 2 ID : 94891134348
Option 3 ID : 94891134347
Option 4 1D : 94891134346
Status : Answered
Chosen Option : 3
Q76 arer Srdiege 3t Hewied Rwd #r T FEd Renfades F & o 0
Ans w
X . B TS eI ForH
X 2 AfEErE A
X g or & e
- o
v 4ogT g I ameT
Question ID : 9489118930
Option 11D : 94891135717
Option 2 ID : 94891135720
Option 3 1D : 94891135719
Option 4 ID : 94891135718
Status : Not Answered

Chosen Option :




Q.77 Torw weros ® & en W By w9l off aFS F e w5 9w oF satE gat @ daRa

Ans

frareet &1 g w7 ¥ v SRR 9, 98 Fes aa s # o o

v 1. oS el (Lord Wellesley)
X 2 @7E segtsr (Lord Dalhousie)
X 3. &g F=tT (Lord Curzon)

X 4 o5 9few (Lord Bentinck)

Question ID : 9489118919
Option 11D : 94891135673
Option 2 ID : 94891135676
Option 3 ID : 94891135674
Option 4 ID : 94891135675
Status : Answered
Chosen Option : 1
Q.78 #ifre 3T =ge T sME-EE ¥ SEe, W T o7 AR AT #v few ¥ e 9w ff mmw § v,
Fofr &1 1 ¥ A = B & ¥4 TEy 22
Ans +
X1 TSy | ST
v 2 Ordr / At
X s ==/ g3 / AT/ A
<4 Fdr
Question ID : 9489118579
Option 11D : 94891134315
Option 2 ID : 94891134316
Option 31D : 94891134314
Option 41D : 94891134313
Status : Answered
Chosen Option : 2
Q79 o & Ty F AT F AT TS A AHGOT T F FAT T A E2
Ans ik
X HTOSF T
X 2 G5 T
X 3 e
v OO §o
Question ID : 9489118915
Option 11D : 94891135658
Option 2 ID : 94891135657
Option 31D : 94891135660
Option 4 ID : 94891135659
Status : Answered
Chosen Option : 4




Q.80
J16+J80+d5t}00— 4999 FT AT AT FI=TI

Ans x 1.1
<225
# 3 50
V5
Question ID : 9489116147
Option 11D : 94891124585
Option 2 ID : 94891124586
Option 31D : 94891124588
Option 4 ID : 94891124587
Status : Answered
Chosen Option : 4
Q.81
FT FI HT T F ST FgT ar 21 U FHr s 4w 7
e X0 e
v g
< 3 Free
FASEAR oy r=-riry
Question ID : 9489118914
Option 11D : 94891135654
Option 2 ID : 94891135655
Option 31D : 94891135653
Option 4 ID : 94891135656
Status : Answered
Chosen Option : 2
Q.82 Anexamination requires 33% marks in order to pass. A candidate who gets 210 marks fails by 21 marks. What are the
total marks for the examination?
Ans 31400
< 2. 350
< 3500
W 4 700
Question ID : 9489116157
Option 11D : 94891124625
Option 2 ID : 94891124628
Option 31D : 94891124626
Option 4 ID : 94891124627
Status : Answered
Chosen Option : 4




O ST # ¥ FiF ¥ datEeeET g #2

e X BfFee Al o
v 2 gHt A st
X 3 e
X 4 He offaar
Question ID : 9489118925
Option 11D : 94891135700
Option 2 1D : 94891135698
Option 3 ID : 94891135697
Option 4 1D : 94891135699
Status : Answered
Chosen Option : 1
Q.84 Zomer 2feder woleh (NTA) & Furomr a8 & wader 90en0 3mafSa & &g & o5 o
ans 12020
< 2 2015
< 3 2019
v 4 2017
Question ID : 9489118904
Option 11D : 94891135616
Option 2 1D : 94891135613
Option 31D : 94891135615
Option 41D : 94891135614
Status : Answered
Chosen Option : 1
Q.85 G # @ #iw @ sy afofags RBfter yumssr & ard & srezsfar s falE & 9 0
ey oar?
A i
" Rftmse s 1773 (Regulating Act 1773)
<2
frew =2 sfafFas, 1784 (Pitts India Act 1784)
<3
R T A=A, 1858 (Government of India act 1858)
X 4 =T =g, 1793 (Charter's Act 1793)
Question ID : 9489118941
Option 11D : 94891135764
Option 21D : 94891135761
Option 31D : 94891135763
Option 4 1D : 94891135762
Status : Answered

Chosen Option : 1




Q.86 Fr=Tifid ar % 7 eawEF AT Fi AR R 1w s 7 seew &)

Number of school bags (in Iakh) sold by a particular stationary shopfromthe

year 2014 1o 2019
= 60 55
£
£ 45
= 40
§ 40 35
E 30
E 2
s
% 20
=
z
&
w0
4;' 2014 2015 2016 2017 2018 2019
E Years

% 2015 AR ¥ 2017 F 3 1T T A9 F1 TEAHT (No. of School bags sold) FT X AT Fraw]
Ans X110 o

X 2 20 &E

v 5w

X415 &

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118589
94891134354
94891134356
94891134353
94891134355
Answered

3




Q87 & a1 arforemait 7 aremTer Y 3R R aT woeT & 3= &)

Ans

offfar Afer UAs WOT & v s Aquiae ik
RS F WO | 3AH ¥ vl & R A
1 v | e e | gue AfEE
(215,000) | SShfe—R | &&= | (21500)
(220,000) | (21000)
o | B 1 2 2 20
T 1 4 500 140
v ST 1 6 100 250
gfear 2 2 150 200
QT Aol WO & T A |WOT F 9T @ H
qREST % =T | AT | At FaTater
THIEm (=t )
(=t )
s / B | 20 30
O 500 650
e faerEr | 60 80
gfear 30 40

fore =T & AT AT AdeT T H JoleAr H aAfIF AT T
# st fovde ok g8

X dfear

v 2 faToT
X 3 Fae | BeEa
X 4 grEvensd s

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118590

94891134360
94891134358
94891134357
94891134359
Not Answered




Q.88 = aifae @1 Fewwa wt 3k fw ov yoF # 3T &)

Ans

qﬁ'mml orEt #r gE
FET 7 A|FET 7B T8 7 C

2 GEeT afest & et 18 15 17

FATT 1 TlaT & sechiot fhg dAER 2 wiem & st 4 7 3

FATT 2 T F sehor g dAFT 1 olan & agedor| 6 7 6

2t FETT st F e 2 1 5

Zr oiemt § F F7 ¥ FH UF H 307 @ I FAT 7C F orE fr §E v g e 27

v 1 83%

X2 91%

X 3 56%

X 4 26%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118591
94891134363
94891134364
94891134362
94891134361
Answered

1

Q.89 & o wifemr & AR, ¢ 2003 & ¢ 2004 ¥ BN F ¥ @ Tew F Fforw Iw F

Ans

Wﬁﬁmﬁaﬁmqﬁaﬁﬂgm

States Number of Netflix subscribers
(in millions) in the years 2003 &
2004
2003 2004
Delhi 37.62 43.26
Mumbai 45.26 47.61
Assam 32.02 40.56
Punjab 48.65 50.55
Kerala 36.36 38.21
Bihar 27.21 27.87
Uttar Pradesh 67.52 71.34

# 1. 3ea¥ 9e3r (Uttar Pradesh)
X 2 &g (Bihar)

X 3 feeerr (Delhi)

W 4 3¥HHA (Assam)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118592
94891134368
94891134367
94891134366
94891134365
Answered

4




Q0 g FEmr Fr g HfET, I HERET A ¥ e a6

2, 14, 84, 422, 1680, 5040, 10080, 10080

Ans 1. 5040
X2 84
V3 422
< 4 1680
Question ID : 9489118585
Option 1 1D : 94891134340
Option 2 ID : 94891134337
Option 31D : 94891134338
Option 4 1D : 94891134339
Status : Answered
Chosen Option : 3
Q.91 sfEza, #A=® # a1 §1 O, 519 &% 3¢ #1 @17 §1 99 F G0 #1 927 volFH, A5F #7 A% g sfeed
FT e T FT wEy 2
Ans
v R F g FToger
X2 @A
X 3 oIS HT ST
X 4 Ryar &1 815
Question ID : 9489118580
Option 11D : 94891134317
Option 2 ID : 94891134320
Option 31D : 94891134319
Option 4 1D : 94891134318
Status : Answered
Chosen Option : 1
.92 : :
092 7 ReeT # IO FY, S U HFEaT 30 T 3= ¥ amea B
Ans o 1. GJB
< 2 VYB
< 3 PSV
# 4 CFl
Question ID : 9489118595
Option 11D : 94891134377
Option 2 ID : 94891134380
Option 3 1D : 94891134378
Option 4 1D : 94891134379
Status : Answered

Chosen Option :

1




Q.93 fow v Tt AR st A caegEE 92w F 9 Tl B A A g e W o @
FIAAT: AT T T R A e AR S R Tl A AT d aFE @
FUAT F T T E
T

I\l 3mear 98 ¥

Il. 15 Fof oRsgpa a4 &
Py

I mefr oF afrspa B

Il % e afsga 78 &

Ane X1 e TSy | gTelT ST B
X2 o7 & sy | o7 8 ARy || 9Tere Far 2
X3 sy | AR I ST & 9o T g
v ¢ Faer fsey || 9ol FHaT B

Question ID : 9489118574
Option 11D : 94891134293
Option 2 ID : 94891134295
Option 31D : 94891134296
Option 4 ID : 94891134294
Status : Answered
Chosen Option : 4

Q94 =37 e w1 =TI &, TEA BT v g TA & wqeE & & o Taw §, S v o wemgim H
ael ¥ @ E

IMT (Cow) : & (Bull)

e K. B3R (Pig) : F3IW 1T (Sty)
X 2 ¢ (Drone) : fg7ofr (Doe)
v o TfFeE (Maid) : @95 (Valet)
X 4 faeedr (Cat) : Heei-=iar (Feline)

Question ID : 9489118576
Option 11D : 94891134301
Option 2 ID : 94891134303
Option 3 ID : 94891134304
Option 4 1D : 94891134302
Status : Answered
Chosen Option : 3




Q.95 Select the Venn diagram that best represents the relationship between the following classes.
Kidney, Organ, Heart

Ans

F

BOOE

Question ID : 9489118597
Option 11D : 94891134388
Option 2 ID : 94891134386
Option 3 ID : 94891134385
Option 4 1D : 94891134387
Status : Answered
Chosen Option : 3

Q.96 zg FEar #1 TEa wi, I FEAR@d Al F geAEEm REd (2) F T 9 G 2
23, 168, 1183, 8288, ?
Ans 1 58,023
< 2 87,012
< 3. 74,053
X 4 67,098

Question ID : 9489118588
Option 11D : 94891134349
Option 2 ID : 94891134352
Option 31D : 94891134351
Option 4 1D : 94891134350
Status : Answered
Chosen Option : 1




Q.97 33 3= 3@ F1 909 FY, A HAeAToT@dT 39 F 99 F e FF gafeaH e ¥ Owhg S B
e, T, B
Ans

F

OBRE

Question ID : 9489118596
Option 11D : 94891134382
Option 2 ID : 94891134384
Option 31D : 94891134383
Option 4 ID : 94891134381
Status : Answered
Chosen Option : 4




Q.98 far 71w Fum AR forsast F wAEF WA A T AT G o, T wrm m aE @
o W R

YA
FIR AT A F AATH FE=R A F TF §
ey

1. 9% 3T FAER FOg F IFA A T

2. Fggtt & A S Fr ome R ¥

A X1 Faer oS 1 OTET AT B
v 2 Faer fasey 2 9o HaT B
X 3 gr o fsey 1 o7 fosey 2 gree FLar g
X 4 2T & TRy gree F= g B

Question ID : 9489118581
Option 11D : 94891134321
Option 2 ID : 94891134322
Option 31D : 94891134323
Option 4 1D : 94891134324
Status : Answered
Chosen Option : 2
Q.99 R 71w wu AR forwst # wEEE 9 T T B #a & oewy, fw v ww o afs W e
oo = £
FAT ¢
Rt few F 49w mgEn f
foreepd:
L. e axg o1 g & Al 7 g, 0% 9 e & A afte ag &
M. fred &t FoE wae ww F v sfa gf s wer afgm
Ans ¢ F
X 1. gt & TSRy 1o e
X 2 Faer fsey M 9o 3T 2l
v 2 el sy L 9ol #ar g
X 4 gr a@r ey L ar Fesy M 9rers T gl
Question ID : 9489118582
Option 11D : 94891134328
Option 2 1D : 94891134326
Option 31D : 94891134325
Option 4 ID : 94891134327
Status : Answered
Chosen Option : 3




10 =7 fapeT # TOR F, S v PfRTT Tl ¥ T ¥ E E
Ans «11:;-3.!'\

X 2 UFF

X gk

X4.EID?EI'IT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118593
94891134372
94891134371
94891134370
94891134369
Answered

1
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